Example 1:

Set Notation

Solve the following, writing your answers in set notation and then interval

notation...

x> +3x—-10<0

Correct Answer

Set Notation

Interval Notation

—5<x<?2

{x:x>-5}n{x:x <2}

x € (—5,2)

Example 2:

Solve the following, writing your answers in set notation and then interval

notation...

x°+4x—-21>0

Correct Answer

Set Notation

Interval Set Notation

x<—7o0rx=>3

{x:x < -7}u{x:x =3}

x € (—o0,—7] U [3, )

Now try these...

3x <15
x2+x—-2<0
x2—=2x—-3>0
x+2)x—1)>14
x(x—1) <20

x?>4x -3
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